Grade 4

Mathematics

Multiplication

1. Complete the multiplication grid.
2 4 6
6 12 18
10 20 30
14 28 42
2.  Work out the following.
a) 8x9=72
b) 4x10= 40
c) 7x30= 210
d 25x100= 2500
3.  Work out.
+2
@ 3 5 0 172 4 © 9 2 @ 78 6
X X x 5 ¢ x 4 3
2 4 5 7 4 4 4 6 0 O 2 5 8
3 4 40
3 6 9 8



4.  There are 26 pupils in a class. Each pupil has 4 pens. How many pens do
they have in all ?
+22 6
X 4
1 0 4
Answer: 104 pens.
5. There are 174 boys at a football match. Each boy paid his ticket Rs 40.
How much did they pay in all ?
17 4
X 4 0
6 960
Answer: Rs
6. Shika has 14 sweets. Gwenaélle has thrice as many sweets as Shika.
()  How many sweets does Gwenaélle have ?  Answer: 42 sweets.
(i)  How many sweets do they have altogether ? Answer: 56 sweets.
: +1 N
(1) 1 4 (i) 4 2
X 3 + 1 4
4 2 5 6
7.  Anilesh has 12 boxes, each containing 10 marbles. Whayat has 15 boxes,

(i)
(i)
(iif)
(i)

each containing 6 marbles.

How many marbles does Anilesh have ? Answer: 120 marbles.
How many marbles does Whayat have ? Answer: 90 marbles.
How many marbles do they have in all ? Answer: 210 marbles.
(i) (iii)
1 2 ®1 s 12 o0
x 1 0 X 6 + 9 0
1 2 0 9 0 2 1 0




